

$$3\frac{2}{5} \times 3\frac{3}{6} =$$

$$\frac{7}{9} - \frac{3}{10} =$$

$$\frac{2}{8} + \frac{2}{10} =$$

$$\frac{7}{12} \times 4 =$$

$$1\frac{1}{6} : 1\frac{3}{6} =$$

$$4\frac{3}{8} + 10\frac{1}{8} =$$

$$\frac{9}{11} : \frac{100}{10} =$$

$$7\frac{1}{9} - 6\frac{5}{9} =$$



$$3\frac{2}{5} \times 3\frac{3}{6} = \frac{17}{5} \times \frac{\cancel{21}}{\cancel{6}} = \frac{119}{10} = 11\frac{9}{10}$$

$$\frac{7}{9} - \frac{3}{10} = \frac{70}{90} - \frac{27}{90} = \frac{43}{90}$$

$$\frac{2}{8} + \frac{2}{10} = \frac{10}{40} + \frac{8}{40} = \frac{18}{40} = \frac{9}{20}$$

$$\frac{7}{12} \times 4 = \frac{28}{12} = 2\frac{4}{12} = 2\frac{1}{3}$$

$$1\frac{1}{6} : 1\frac{3}{6} = \frac{7}{6} : \frac{9}{6} = \frac{7}{\cancel{6}} \times \frac{\cancel{6}}{9} = \frac{7}{9}$$

$$4\frac{3}{8} + 10\frac{1}{8} = 14\frac{4}{8} = 14\frac{1}{2}$$

$$\frac{9}{11} : \frac{100}{10} = \frac{9}{11} \times \frac{\cancel{10}}{\cancel{100}} = \frac{9}{110}$$

$$7\frac{1}{9} - 6\frac{5}{9} = 6\frac{10}{9} - 6\frac{5}{9} = \frac{5}{9}$$

